example3 1 Evaluate each of the following:

a sin(_3ic) b cos(—%t) c sin(%m) d COS(3EI?)

e sin(—4m) f tan(—m) g tan(2m) h tan(-2m)

I cos(23m) j cos(dr’%) K cos(35m) [ cos(_425ﬂ) = O/ > &N
m tan(24m) n cos(20m)

=3, ’2/", oS v, 7 .-
From the periodicity of the circular functions:

(
——® = sin(2kw + 0) = sin 0, for all integers K i U y— ao'f **"'VJ&X

m cos(2km + 0) = cos 0, for all ﬂltegers k A V.Q— R L«LLL

m tan(km + 0) = tan O, for all integers k. & 4.
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L \ these two triangles must be rememberd, needed when finding sin, cos and tan of angles of 30, 45, 60... C R
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Evaluate:
a COS(SIH) b sin(ll?ﬁ) C cos(zoz?n) d tan(%)
Solution
a COS(%) b sin(%) C COS(ZO:?JT) d tan(SZTn)
= cos(:rti) = sin(Z:n: — g) = 608(66311 + 2;) = tan(8n: | 2;)
= —COS(E) = — sin(E) = cos(z—n) = tan(z—ﬂ:)
4 6 3 3 0 .
1 0 0 — -
= =3 = cos(:n: - 5) = tan(:n: - g)
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